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Uu

DC

UU/DC

1 0.831120 | 0.831185 | 0.999922 [P2 P3
2 0.365732 | 0.365043 | 1.001887
3 0.291610 | 0.290960 | 1.002237
4 0.205864 | 0.205693 | 1.000830
5 0.093639 | 0.093144 | 1.005305
6 0.088641 | 0.088152 | 1.005545
[ 0.078352 | 0.0/78871 | 0.993429
8 0.066261 | 0.066636 | 0.9943/4 (P2 P3
9 0.048828 | 0.048464 | 1.00/519 (P1 P4
10 0.048828 | 0.048407 ] 1.008691 (P1 P4

uu

DC

uu/DC

1 1.904080 | 1.904671 | 0.999690

2 0.365452 | 0.364824 [ 1.001/22

3 0.292581 | 0.292035 | 1.001870

4 0.209322 | 0.209212 [ 1.000526

S 0.092909 | 0.092634 | 1.002974

6 0.089853 | 0.089610 | 1.002/16

/ 0.082821 | 0.083231 | 0.995074

8 0.071750 | 0.071542 | 1.002903 P2

9 0.066243 | 0.066616 [ 0.994391

10 0.059035 | 0.058832 | 1.003455 |P1 P4






or 9.80665m/s?
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